
Q.P. Code: 18HS0834

Reg. No:

Time: 3 hours
PART.A

(Answer all the Questions 5 x2 = 10 Marks)
1 a Write the formula to flnd a cube root of a number by Newton Raphson's method.

b Write the standard five-point formula.
c Find r(e"' coshbt)
d 

Find the Fourier sine transfb.- of !.
x

e Find the particular integral of 4r +l2s +9t = e3' 2; 
.

PART-B
(Answer all Five Units 5 x 10:50 Marks)

bNnIl
2 p'ind the root of the equation xe' = 2 by using regula-falsi method.

OR
formula and the given table of-values3^
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5MUsing Newton's lbrward ir-rte lolr
x l.l 1.3 1.5 1.7 t.9
fk\ 0.21 0.69 1.25 1.89 2.61

Obtain the value of ./(x) when x - 1 .4.

b Use Newton's backward interpolation formula to find .f(32) givenJQ5):0.2101, 5M
/(3 0)-0. 3 0 27, ./(3 s):0. 3 3 8 6,./(40):0 .37 e 4.

Using Taylor's series method find an approximate value of y at x : 0.2 fbr the D.E 10M
y'-2y =3e',.y(0) = 0. Compare the numerical solution obtained with exact

solution.

Using the R-K rnethod of 4ttt

dv-'=l+.ry"y(0)=2.
tlx

OR
order find

luNruril

y(0.1),y(0.2),y(0.3)given that l0M

6 a Find rG-3'[2cos5r-3sin5r])

b Find the Laplace transfbrm of J'(t)= f n ' corl
0

5M

5M

oti.
Using Laplace transfbrm method to solve y" *3y' *2y = 4t + e3' where 10M

y(0)=l,y'(0)=1.

dt.
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Find the lrourier sirre and cosine translorms of ./ (x) = 
n ''' 

,a > 0. Hence show that
x

nr (' '" - ("''' t 
, /.y )

| 

- 

sul.!,,r ,lx = Lan-tt I l- tal ,l - Lr. x \r) \h)
OR

l0M
g Find the inverse Fourier sine transform of ./ (x) of F,(tt) =

1+p2'

l0 a Solve x(y- z)p+ y(z -x)q = z(x- y).
b Solve x'(y - z)p + y' (z - x)rl = z2 (x- y).

OR
l1 A tightly stretched string with fixed end points x-0 and x:/ is initially at rest in its lOM

equilibrium position. [t is set vibrating by giving each point a velocity kx(l - x). Find
the displacernent o1'the string at any distancc x from one end at any time l.
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